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3. BES%.

3.1 Vi
1. B PH B R 0 WA 4, HARHIEE(1-31)1EEE RIS (3K 8BYTE)

2. JTHEHLHERD: Oxff, AI{EATA WAPATHR —m 4, (EENMHA S BN E
3. AHLFEE TAQ485 VO3 (S MY

3. 1. BEENLATS CLUF b 0 AR, Foft bt di 58 3 b 1k A AT 56 g B T )

1AL
aa 00 02 00 00 00 5a 5¢ f5
2.5
&A%: aa 00 02 01 01 01 5a 5F f5
HA%: aa 00 02 01 02 02 5a 61 f5
EiR%: aa 00 02 01 03 03 5a 63 f5 AE AL 4
3R
EA%: aa 00 02 02 00 01 5a 5F f5
HHA%: aa 00 02 02 00 02 5a 60 5
ER4: aa 00 02 02 00 03 5a 61 5
4 A2
aa 00 02 00 00 00 A5 A7 5
5. #E i :
aa ff 02 02 00 03 5a 60 f5(HE X E=AY)
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TAQ485 B2 MY

Bytel | Byte2 | Byte3 | Byte4 Byte5 Byte6 Byte7 Byet8 Byet9
OxAA | Addr | HostID | WorkMode | M1 Speed | M2 Speed | NewOpt | Checksum | OxF5
Addr: EALIE Kk

0-31:  TAQ485 Bk,

Oxff:  TAQ485 | #&Hui:
HostID: EHL ID, FHK5#EEHL

0x01:  Hhf=2%

0x02:  F¥% A
WorkMode:

0: KA1

1: 45,

2:HEK
M1 Speed: it X ik 15 B R4 7
M2Speed: i K15k 15 B RS A7

0: 5% M

1A

2: 74

KR
NewOpt:

AR, E Y 0x5a, 75 U2 0x00, FISKERHL TAQA8S HL YA 2 il &% 2 il &

2 0xAS B, NEfa 4
CheckSum:

Checksum= Byte2 + Byte3 + Byte4 + Byte5 + Byte6 + Byte7




TAQ485 KRiZ WL

Bytel | Byte2 | Byte3 | Byte4 | Byte5 | Byte6 | Byte7 | Byte€ | Byte9 | BytelO Bytell

OxA | Addr | Cntl | Work | M1 M2 Temp | RH Error | Checksum | OxF5
A D Mode | Speed | Speed | er Code

Addr:
1AQ485 AH Lk
CntID: %2#% ID 5 (#uEFEH)
0:5H E NI
1:C-Touch
2:0therDevice (F74% 2 i)
WorkMode: 4 Hi AL
0: %HL
145
24K
35 HE
4:583)]
54 H
M1 Speed: it X ik M HTFS 7
M2Speed:HE Kk Y TR
0: 5%
1A
2.7
KR
Temper: = AMNEE
bitO~bit6 F/RIREEAH . bit7 FonIEAREE. 0. IEWREE; 1. SR,
filtr: 0x0a (- N#ED F£x:  +10 FE: 0x8a (H/ ikl F£x: -10 S
RH: AN

ErrorCode: [ At
Bit7: RS RIRIRES L:ifE 0:1E%
Bit6: WAL RS ks 0:1E%
Bit3: M2 LikRE b 0:1E %
Bit2: Ml GikRE b 0:1E %
Bit0/Bit1/Bit4/Bit5: fREIfL, AN 0
CheckSum:

Checksum= Byte2 + Byte3 + Byte4 + Byte5 + Byte6 + Byte7 + Byte8 + Byte9



